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Polynomials Test Review

1. Determine the prime factorization of each number:
a) 594 'b) 2100 c) 4875

PP a3 Pr=0%3.5%7  PE-3: S !3--_'

2. Determine the greatest common factor of each set of numbers:
a) 45,80 b) 176, 320

CLE= 5 ccr= b

—

3. Determine the least common multiple of each set o6f numbers:
a) 36, 63 - , b) 90, 140 :

e = 9.5 3 | LCON = 2
(2z6e

4. A necklace has 3 strands of beads. Each strand beglns and ends W|th a o
red bead. If a red bead occurs every 6™ bead on one strand, every 4"
bead on the second strand, and every 10t bead on the third strand,
what is the least number of beads each strand can have’?

Len = &0 \Dc—:md. S

5. Expand and simplify: .

a) (g+4)g-5) = Cj“ris‘ 2

b) Gy +1)y-9)=ay*® E’W‘d‘
c) (c+1)c2+3c+2) = ¢ 3. & «-%’C_—\*”é ‘ o
d) (5—4x)(6 + 3x-2x2) = % x3 fa;wqu 30 e
&) (M2+3mM+2)2M2+m+5)= ead Ao +\am Paiim

(-2

f) (2E+Tx+6)BE-2x=3) = 4 - <, iOn __ssxc—k 3



Mixed Factoring Review

L 3rt+65 B+ +28) | 20.m!? -1 (m"’u—])ka’w\#D

2. 2x%+4x -6 20(x~3)(X~V) 21.6d%* —5d —21 (2d+23)(3d-7)

3. 7Tx=3xy (-2 225/ +11r—12 (S¢ - 4)F3D)

4. a*—36 (Q-—Lg)(q-k 5) 23.x% — 172 +30 (X —(SXX~3)

5. t2—4t+4 oy 5V 24.81n% —121p2 (A0 -\\p) (A \\p)

6. 1562 —26b +8 (3b~4)(Rb-3) 25.62+2-3 (++3)G Y

7.10y2 +19y—15 (3y~5)(Sy-3) 262 +x-3 (x X t3) |
8. 3xy — 4yz? + 4yx? Y ( 32X __42,34‘.4%)27.91:2\ —4s® (34 -2 s4(2* NN |
9. 7x%+42x+63 — ( X+3)‘3 28.3u* — 13u — 10 (2y+2)( U'“S‘)
©10.9¢cy? — d?c c ('gxﬂ—d)C%‘ﬂ‘td) 20.8x—12 A (ax-3)

11.y% — 6y U (j’;_'loj 30.y° — 4y %(%av;})cﬁ‘«a)
12.9-81z* (3-42NNGYA2%) 31,2t —r22 ok (\-%)

13.3a2 + 24 3B (o”>F) 32.8x%y® - 2xy x L}th“—\)
14.3d*+3d—-90 2+ 6)(A-%) 33.8a%*+2a-1 (aqg-—-V(3a+\)
15.6xy —9+3z 3 (axy->+t=2) 34.16a% — 25p2 (4Aa - gg)(é‘}—o\—&ékﬂ'
16.n2_— 3n—4 (-4 35.ax + ay®* 4% +3tﬂ
17382 + 11 +8 sy 1) (Byag) 36427 +x-3 (Ax-3) ()
18.2k2 =5k +2  ( 2k-1)( «~3) 37.3K% — 17k + 20 {3k ~ SO~

19.6p? — 35p + 50 (Bp - {o) (2p~5) 38.9x% - 16y6_ (:5>< - 455‘_')(3% +%5%)



